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1 B )= H H H
B 4 o = Ihig s keZUME| & = i) keZUME|] & = g keZUME| % = Ihig s keZUME| & = A% keZUME|] & = g ke UMEAE
_ (kg) (FH) () (kg) (FA) (1) (keg) (FH) () (kg) (FHD) () (kg) (FA) (A (kg) (FH) (M)
0 20,880 7,521 360.20 165,574 49,405 298.39
= B 1,944 486 250.00 3,176 1,262 397.36
& ] = 93,284 13,727 147.15 108,527 17,398 160.31
SUAR—IL 15,521 3,906 251.66 21,692 5,558 256.22
TrAVHERE 840 401 477.38 5613 1,438 256.19
<~ L — 7 - - - 8.022 1,989 247.94
1T 7 - - - - - -
4 > N - - - - - -
i3 = - - - - - -
5 T — - - - - -
- " 41,644 8.333 200.10 70.156 14,063 200.45
h v kR DT - - - - - -
Nk F L - - - 3,589 865 241.01
2 4 ) E ] - - - = = -
F—RrFSU7T - - - - - -
4 VA # 480 215 447.92 -
S v L3 — - - - 712 225 316.01
7S5 REE - - - -
K 1 v - - - - - -
4 A5 T )L - - - -
AR A4 2 - - - 180 408 2.266.67
A + A - - - 672 234 348.21
= % 174593 34,589 198.11 387.913 92845 239.34 — — = = —
EF]I] E m A B 143,244 26,514 185.10 179,397 37,373 208.33 - - - - - - = - — - - -
B4 B B (%) 121.97 130.5 107.0 216.2 248 4 1149 — — — — —
E £ = i keDUER|] & = % keSUMEB| & = iy keSUME] & = i keDUEE] & = % keSUMB| & = iy ke U A%
= (ke) (FAD) () (kg) (FA) () (ke) (FHD (M) (kg) (FAD) () (kg) (FA) () (ke) (FH) (M)
2 =
& &
SUAR—I
TrAJHhERE
~ L =27
LV NE S 4
4 > K
i =
3 A
T > d L
h o R TTF
N~ F LA
72 4 Y E
F—XRrFSU7T
< A #*
v < —
727 REE
B 4 v
4 A5 T )L
A R A4 2
I
HEE B L (%) = = = - - -
B 4 B = % ke U A%
_ (kg) (FHD (=)
8 [= 186,454 56,926 305.31
= = 5,120 1,748 341.41
& ] & 201,811 31,125 154.23
SUAKR—IL 37.213 9,464 254.32
TrA)VHhERE 6,453 1,839 284.98
T L -7 8,022 1,989 247.94
Aok 7 - - -
14 > K - - -
& = - - -
3 — A - : -
£ v d L 111,800 22,396 200.32
h YR DT - - -
N + F+ LA 3,589 865 241.01
2 4 ) E v - -
F—XES5U7F - - -
< v #x 480 215 447.92
=T v T — 712 225 316.01
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£ D] - - =
£ L -

A % 180 408 2,266.67

A A 672 234 348.21

= %l‘ 562.506 127434 226.55

E [ H B 322,641 63.887 198.01

) 174.3 199.5 114.4
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1 A A 4 5 6
E 4 M £ g |keHYMKE| & 2 flitg |(keZUMEK| B = g |(keHUMMKE] B = g |(keHUMKE| & =2 flitg |(keZUMEHK| B = it | keZHYHE
(kg) (FH) (M) (kg) (FH) (H) (kg) (FH) (H) (kg) (FH) (H) (kg) (FH) (M) (kg) (FH) (FH)
F & 21,143 2,153 101.83 14,706 1,483 100.84
2 1 - - - - - -
AR —IL 2,593 610 235.25 4,149 980 236.20
2 2 v R - - - - - -
EF v 34 L 1,728 327 189.24 5,332 1,028 192.80
F—XLZUT - - - - - -
=) iz - - - - - -
i £ 25,464 3,090 121.35 26,951 4,011 148.83 - - - - - - - - - - - -
B E R A fE 32,526 4,082 125.50 40,065 6,382 159.29 - - - - - - - - - - - -
BI4E R B b (%) 78.3 75.7 96.7 67.3 62.8 93.4 - - - - - - - - - - - -
7 H A 10 1 12
4 M E it |keHYME| H £ it |(keZUMEK| B = it |(keZHUMKE] B = i |(keHYME| & = flitg [(keBYUMEKE| B = Mg | keH V@
(kg) (FH) (M) (kg) (FH) (M) (kg) (FH) (1) (kg) (FH) (M) (kg) (FH) (M) (kg) (FH) (1)
F b
3 1
U AR—IL
72 3 v R
T v 4 1L
A—RbS5U7
=) B
=) 5 = = = = - - - - - = = = - - - - - -
Bl £ B A {E - - - - - - - - - - - - - - - - - -
AR B L (%) - - - - - - - - - - - - - - - - — —
% &
E 4 B = e |keHYMEE
(kg) (FH) (M)
F & 35,849 3,636 101.43
A 1 - - -
P N 1% 6,742 1,590 235.84
2 3 v R - - -
T v I 0L 7,060 1,355 191.93
F—XrZU7 - - -
a E - - -
= F 52,415 7,101 135.48
Bl £ @ A {E 72,591 10,464 144.15
HIE B A L (%) 72.2 67.9 94.0
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1 A A 4 5 6
E 4 M E g |keHYUME| B £ flitg |(keZUMMHK| B = it |(keHUMK] & = g |(keHVUMKE| & =2 flitg |(keZUMEK| B = fi4s | ke Y@
(kg) (FH) (H) (kg) (FH) (M) (kg) (FH) (H) (kg) (FH) (H) (kg) (FH) (M) (kg) (FH) (H)
& 5 1,300 280 215.38 1,500 322 214.67
F i 1,392 648 465.52 8,477 1,982 233.81
Rk - - - - -
SUHAHR—L - - - - - -
S E - - - - - -
A 1 - - - - - -
TAVHERE - - - - - -
th - - - - - -
h v R o7 - - - - - -
N b F A - - - - - -
& =t 3,314 1,281 386.54 9,977 2,304 230.93 - - - = - - - - = = - -
B E R A (E 8,319 2,700 324.56 12,397 3,397 274.02 - - - - - - - - - - - -
BIEE R B b (%) 39.8 47.4 119.1 80.5 67.8 84.3 - - - - - - - - - - - -
7 A A 10 11 12
E 4 M E g |keHYME| B £ flitg |(keZUMEK| B = it |(keHUMK] B = g |(keHVUMKE| & =2 flitg |(keZUMEK| B = fli4s | ke Y@
(kg) (FM) (M) (kg) (FM) (H) (kg) (FA) (M) (kg) (FM) (R (kg) (FM) (H) (kg) (FHA) (M)
AN o
: s
R
P N 1%
S E3)
3 1
TAVHERE
th E3)
h ik o7
=1 iy - - - — - - — — - - - - - - - - - -
Bl £ R A fB - - - - - - - - - - - - - - - - - -
A B L (%) - - - - - — - - - - - - - - - - - -
E 4 ® = & | ke WM
(kg) (FH) (1)
a iy 2,800 602 215.00
F ; 9,869 2,630 266.49
Sl I Sl - - -
SUHKR—= I - - -
EH E3| - - -
A 1 - - -
TAVHERE - - -
th E - - -
h v R o7 - - -
=) &t 13,291 3,585 269.73
Bl £ @ A {E 20,716 6,097 294.31
HISE B A L (%) 64.2 58.8 91.6




